
Four choices are given for each of the questions/incomplete statements. Choose 
the correct answer and shade the correct choice in the OMR given to you with 
blue / black ball point pen.

40 x 1 = 40
81. Srinagar is called

 A. the city of sun B. the city of silk

 C. the city of heritage D. the city of silicon

82. In the lesson “At the Zoo”, the bird that was having a quiet doze, standing on   
one leg is

 A. parrot B. crane

 C. duck D. stork

83. Chandra Gupta became the king of Magadha with the help of

     A. Rakshasa B. Nandas

     C. Chanakya D. Chandan Das   
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84. Faithful friend is -------- to find. 

      The correct word to be filled in the blank is

	 A.	 hard		 B.	 difficult

 C. easy  D. plenty

85. The river that flows in Kashmir is

 A. Sindhu B. Ganga

 C. Yamuna D. Jhelum

86. The first musician to be awarded ‘Bharat Ratna’ is

 A. Lata Mangeshkar B. Semmanagudi Sreenivasa Iyer

 C. M. S. Subbulakshmi D. Pandit Jasraj

87. In the poem, ‘A Nurse’s song’, the laughter of the children is heard on the

 A. hills  B. greens

 C. houses D. woods

88. Before going back to his army, Rustum gave Tahmina a

 A. ring   B. seal

 C. bracelet D. chain

89. M. G. Menon was sad after returning from market because

 A. he was alone B. he was sick

 C. he was old and week D. he had lost his pouch

90. “It Never Comes Again”. 

        Here the word “It” refers to

 A. youth B. wealth

 C. health D. relationships
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91. One has to enter the valley of Kashmir at

 A. Jammu  B. Baramulla

 C. Srinagar D. Dal lake

92.  A Lily of a day,
        Is fairer far in

 A. March B. April

 C. May  D. June

93. The poem, ‘Prayer for Dumb Creatures’ is addressed to

 A. Poet  B. humans

 C. animals D. God

94. The policemen arrested the fisherman at 

 A. the market place B. his house

 C. the palace D. the river bank

95. In order to find the whereabouts of Rakshasa, Chanakya hit upon a plan to 
imprison 

 A. Nandas B. Chandra gupta

 C. People D. Chandan Das

96. When we lose our wealth, the faithless friends will

 A. help us B. betray / leave us

 C. stand by us D. pity us

97. Gopi’s childhood ambition was to 

 A. Play with caged birds B. feed the animals

 C. to ride on a horse D. to ride on an elephant

98.   Phalke award was awarded to Lata Mangeshkar for her contributions to

	 A.	 Indian	Cinema	 B.	 Scientific	field

	 C.	 Literary	field	 D.	 Sports
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99. The life span of an Oak tree is

 A. One day B. One week

 C. One year D. Three hundred years

100. In the war of Turan and Persia, Sohrab saw a chance to 

 A. show his bravery B. meet his father

 C. defeat Persia D. earn the fame as a great warrior

101. The fisherman found the ring 

 A. in the belly of a carp B. deep down the river

 C. on the bank of the river D. in the belly of a crab

102. In the poem ‘It Never Comes Again’, the poet emphasizes on the beauty of  
--------in one’s life. 

 The correct answer to be filled here is

 A. Childhood B. Middle age

 C. Youth D. Old age

103. The nurse permits the children to play till

 A. the light fades away B. the sun appears in the sky

 C. mid night D. the sheep return to the houses

104. M. S. Subbulakshmi is called the Nightingale of India in

 A. light music. B. Folk music.

 C. Hindustani music. D. Karnatic music.

105. Chanakya received Rakshasa with great 

 A. honor B. joy

 C. hatredness D. anger

106. According to the poet, the ones that live and die for us are

 A. wild animals B. tamed animals

 C. dumb creatures D. ferocious animals
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107. Although it fall and die that night,
 It was the ------------------------------

	 A.	 plant	and	shine	as	light	 B.	 plant	and	flower	of	light

 C. plant that withers that night D. plant that dies that night

108. While hunting, Rustum went chasing a 

 A. deer  B. wild boar

	 C.	 wolf		 D.	 wild	buffalo

109. When the king saw the ring, he remembered his

 A. father B. love

 C. friend D. mother

110. In the poem “Autumn Song”, the poet’s heart is filled with

 A. Surprises B. curiosity

 C. Joy  D. Sorrow

111. One word for ‘a place where the fruit trees are grown’

 A. Orchard B. Garden

 C. Grove D. Medow

112. Teachers teach us good manners. 
 The underlined word is 

 A. common noun. B. proper noun

 C. collective noun. D. abstract noun.

113. The word ‘agree’ can be written in its opposite form by using the prefix

 A. Un  B. Im

 C. Il  D. Dis.

114. The plural form of the word ‘pony’ is 

 A. ponys B. ponyes

 C. ponies D. ponyies
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115. Sheela gave a nice speech.  
 The passive form of the sentence is

 A. A nice speech was given by Sheela. B. Speech was nice given by Sheela.

 C. Sheela’s speech was nice. D. Sheela gave speech nicely.

116. Raju in his leave application to his Class Teacher, wrote the ending as

 A. Yours lovingly B. Yours sincerely

 C. Yours obediently D. Yours faithfully

117. Ravi put all his books ------- the bag. 
 The correct preposition to be filled is

 A. in  B. on

 C. into  D. at

118. Sahil ----------Shuiab are brothers. 
 The correct conjunction to be filled here is

 A. but  B. or 

 C. because D. and

119. Meera went to her grandma’s house last week. 
 The question that can be framed to get the underlined words as answer is

 A. Where did Meera go last week? 

 B. Why did Meera go to her grandma’s house?

 C. Who went to grandma’s house?

 D. How did Meera go to grandma’s house?

120. The box is too heavy to lift. 
 This sentence can be written by removing ‘too..to’ and using ‘so that not’ as

 A. The heavy box, cannot be lifted.

 B. The box is so heavy that one cannot lift.

 C. The box is heavy and cannot lift.

 D. So heavy box cannot be lifted.
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